
Lecture 13 - February 26

Model Checking

Subformula
Labeled Transition System (LTS)
Paths, Path Suffixes



Announcements/Reminders

• WrittenTest1 guide & examples by the end of Friday
+ All lectures materials up to and including today
+ Lab1 and Lab2 (solutions & in-class discussion) 
+ Review Q&A (Zoom): 7:30pm on Monday, Mar 3

• Lab3 to be released next Wednesday
• Tomorrow’s lab (9 to 10): office hour for your WT1
• This week’s office hour: 3pm, Wed
• TA contact information (on-demand for labs) on eClass



F p ∧ G q ⇒ p U r

Interpreting a Formula: PT vs. LMD vs. RMD
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Deriving Subformulas from a Parse Tree
Enumerate all subformulas of:

F (p ⇒ G r) ∨ ((¬ q) U p)
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Labelled Transition System (LTS)

M = (S, ⟶, L), given P

Q. Formulate deadlock freedom: 
From any state, it is always possible to make progress.
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Labelled Transition System (LTS)

c = 0   c = 1 c = 2 c = 30000



Labelled Transition System (LTS): Formulation & Paths

Assume : P= [p = g +
v3
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nomf state
49th : So -> S2 + S2 - Sz - ...

=
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- of path xX
- components: indices

Path Suffix T = Si +S 2 ->3 + S4 +55

° X (x2)3= S4 + 85 - ...
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